The information contained in this bid tabulation is for information only and does not constitute actual award/execution of a contract.

BID TABULATION CITY OF AUSTIN

BID NO. IFBDKC0093

RX NO.

DATE: 1/9/2013

BUYER: DOLORES CASTILLO

Special Instructions: Be advised that exceptions taken to any portion of the solicitations may jeopardize acceptance of the bid.

TASK 1: CLASS 2 SPECIAL WASTE AND MUNICIPAL WASTE MANAGEMENT SERVICES

		Allied Waste Services #843							
ITEM NO.	ITEM DESCRIPTION	CONTAINER	ANNUAL EST. QTY.	UNIT	TREATMENT	POTENTIAL TSDF(s)	UNIT PRICE	STATE FEE (if applicable)	TOTAL PRICE
1	DISPOSAL								
1	Weathered & Non-weathered Utility Poles (cut to fit roll-off)	Roll-off	6,240	Cu Yd	Grind & Reuse in disposal processes of Landfill	Sunset Farms	\$18.00	included	\$112,320.00
2	Scrap Wood) from broken pallets, crates, or construction debris)	Roll-off	200	Cu Yd	Recycle	No Bid	No Bid	No Bid	No Bid
3	Asbestos, friable, bulk		40	Cu Yd	Landfill	Sunset Farms	\$25.00	included	\$1,000.00
4	Asbestos, non-friable bulk		40	Cu Yd	Landfill	Sunset Farms	\$25.00	included	\$1,000.00
5	Solids - Bulk contaminated soil		600	Cu Yd	Landfill	Sunset Farms	\$25.00	included	\$15,000.00
6	Solids - drained capacitors and oil switches		180	Cu Yd	Landfill	Sunset Farms	\$25.00	included	\$4,500.00
7	Solids - loose bulk plant trash and constr debris		1,530	Cu Yd	Landfill	Sunset Farms	\$17.00	included	\$26,010.00
8	Solids - Drum	55 G Drum	80	EA	Landfill	Sunset Farms	\$50.00	included	\$4,000.00
9	Solids - Drum	30 G Drum	5	EA	Landfill	Sunset Farms	\$50.00	included	\$250.00
10	Solids - Drum	20 G Drum	5	EA	Landfill	Sunset Farms	\$50.00	included	\$250.00
11	Solids - Drum	8 G Drum	5	EA	Landfill	Sunset Farms	\$50.00	included	\$250.00
12	Liquids - Bulk	Tanker	25,000	Gallons	Solidification AND Landfill	Tessman Road	\$0.50	included	\$12,500.00
13	Liquids - Drum	55 G Drum	30	EA	Solidification AND Landfill	Tessman Road	\$60.00	included	\$1,800.00
14	Liquids - Drum	30 G Drum	4	EA	Solidification AND Landfill	Tessman Road	\$60.00	included	\$240.00

						Tessman					
15	Liquids - Drum	20 G Drum	4	EA	Solidification AND Landfill	Road	\$60.00	included	\$240.00		
16	Liquids - Drum	8 G Drum	4	EA	Solidification AND Landfill	Tessman Road	\$60.00	included	\$240.00		
16	Liquids - Drum	8 G Drum	4	EA	Solidification AND Landfill	Koad	\$60.00	included	\$240.00		
				each		Tessman					
17	Sludge - Bulk	Vac Box	6	3000 gal	Solidification AND Landfill	Road	\$1,500.00	included	\$9,000.00		
10	Cl. 1 Dr	FF C D	10	17.4	Call di Carria a ANID I an dell	Tessman Road	#ZO 00	11 41	# <00.00		
18	Sludge - Drum	55 G Drum	10	EA	Solidification AND Landfill	Tessman	\$60.00	included	\$600.00		
19	Sludge - Drum	30 G Drum	2	EA	Solidification AND Landfill	Road	\$60.00	included	\$120.00		
		_				Tessman					
20	Sludge - Drum	20 G Drum	2	EA	Solidification AND Landfill	Road Tessman	\$60.00	included	\$120.00		
21	Sludge - Drum	8 G Drum	2	EA	Solidification AND Landfill	Road	\$60.00	included	\$120.00		
	TRANSPORTATION										
1	20 Yd3 Roll-off Delivery Rate	N/A	18	EA	N/A	N/A	\$150.00	N/A	\$2,700.00		
2	20 Yd3 Roll-Off Rental Rate	N/A	300	Days	N/A	N/A	\$3.00	N/A	\$900.00		
3	20 Yd3 Roll-Off Haul Rate	N/A	6	EA	N/A	N/A	\$280.00	N/A	\$1,680.00		
4	30 Yd3 Roll-Off Delivery Rate	N/A	6	EA	N/A	N/A	\$150.00	N/A	\$900.00		
5	30 Yd3 Roll-Off Rental Rate	N/A	1095	Days	N/A	N/A	\$3.00	N/A	\$3,285.00		
6	30 Yd3 Roll-Off Haul Rate	N/A	220	EA	N/A	N/A	\$280.00	N/A	\$61,600.00		
7	40 Yd3 Roll-Off Delivery Rate	N/A	2	EA	N/A	N/A	\$150.00	N/A	\$300.00		
8	40 Yd3 Roll-Off Rental Rate	N/A	365	Days	N/A	N/A	\$3.00	N/A	\$1,095.00		
9	40 Yd3 Roll-Off Haul Rate	N/A	10	EA	N/A	N/A	\$280.00	N/A	\$2,800.00		
	OTHER - List any other charges not included in above line items that are necessary for completion of wast mgmt task. Please specify each additional										
1	Over weight fee	Maximum per load is 10 tons. Anything over 10 tons will be charged \$.40 per pound.									
2					. 2			_			
3											
4											
5											
6											
	TOTAL PRICE FOR TASK 1								\$264,820.00		

		Texas Disposal Systems, Inc.							
ITEM			ANNUAL			POTENTIAL		STATE FEE (if	
NO.	ITEM DESCRIPTION	CONTAINER	EST. QTY.	UNIT	TREATMENT	TSDF(s)	UNIT PRICE	applicable)	TOTAL PRICE
1	DISPOSAL								
1	Weathered & Non-weathered Utility Poles (cut to	Roll-off	6,240	Cu Yd	Grind & Reuse in disposal		\$10.00		\$62,400.00
2	Scrap Wood) from broken pallets, crates, or	Roll-off	200	Cu Yd	Recycle		\$1.00		\$200.00
3	Asbestos, friable, bulk		40	Cu Yd	Landfill		\$36.00		\$1,440.00
4	Asbestos, non-friable bulk		40	Cu Yd	Landfill		\$27.00		\$1,080.00
	Solids - Bulk contaminated soil		600	Cu Yd	Landfill		\$54.40		\$32,640.00
6	Solids - drained capacitors and oil switches		180	Cu Yd	Landfill		\$54.40		\$9,792.00
7	Solids - loose bulk plant trash and constr debris		1,530	Cu Yd	Landfill		\$17.90		\$27,387.00
8	Solids - Drum	55 G Drum	80	EA	Landfill		\$25.10		\$2,008.00
9	Solids - Drum	30 G Drum	5	EA	Landfill		\$25.10		\$125.50
10	Solids - Drum	20 G Drum	5	EA	Landfill		\$25.10		\$125.50
11	Solids - Drum	8 G Drum	5	EA	Landfill		\$15.04		\$75.20
12	Liquids - Bulk	Tanker	25,000	Gallons	Solidification AND Landfill		\$0.00		\$0.00
13	Liquids - Drum	55 G Drum	30	EA	Solidification AND Landfill		\$0.00		\$0.00
14	Liquids - Drum	30 G Drum	4	EA	Solidification AND Landfill		\$0.00		\$0.00
	Liquids - Drum	20 G Drum	4	EA	Solidification AND Landfill		\$0.00		\$0.00
16	Liquids - Drum	8 G Drum	4	EA	Solidification AND Landfill		\$0.00		\$0.00
17	Sludge - Bulk	Vac Box	6	each 3000 gal	Solidification AND Landfill		\$0.00		\$0.00
18	Sludge - Drum	55 G Drum	10	EA	Solidification AND Landfill		\$0.00		\$0.00
19	Sludge - Drum	30 G Drum	2	EA	Solidification AND Landfill		\$0.00		\$0.00
20	Sludge - Drum	20 G Drum	2	EA	Solidification AND Landfill		\$0.00		\$0.00
21	Sludge - Drum	8 G Drum	2	EA	Solidification AND Landfill		\$0.00		\$0.00
	TRANSPORTATION								
1	20 Yd3 Roll-off Delivery Rate	N/A	18	EA	N/A		\$0.00		
2	20 Yd3 Roll-Off Rental Rate	N/A	300	Days	N/A		\$0.00		
3	20 Yd3 Roll-Off Haul Rate	N/A	6	EA	N/A		\$0.00		
4	30 Yd3 Roll-Off Delivery Rate	N/A	6	EA	N/A		\$0.00		
5	30 Yd3 Roll-Off Rental Rate	N/A	1095	Days	N/A		\$0.00		
6	30 Yd3 Roll-Off Haul Rate	N/A	220	EA	N/A		\$0.00		
7	40 Yd3 Roll-Off Delivery Rate	N/A	2	EA	N/A		\$0.00		
8	40 Yd3 Roll-Off Rental Rate	N/A	365	Days	N/A		\$0.00		
9	40 Yd3 Roll-Off Haul Rate	N/A	10	EA	N/A		\$0.00		
	OTHER - List any other charges not included in ab	ove line items t	hat are nece	ssary for	completion of wast mgmt task.	Please specify	each additiona	ıl	
1									
2									

3					
4					
5					
6					
	TOTAL PRICE FOR TASK 1				\$137,273.20

Prepared By: Selina Carrizales Approved By: Dolores Castillo